
























Technical Annex

Methodology for Estimating Out of School Children

Total Population of Age 5-9 in 2011-12 =6.55 Million

Total Population of Age 10-14 in 2011-12 =6.44 Million

Gross Enrolment at Primary Level age 5-9 in 2011-12 =79 %

Total Primary Enrolment =
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= 5.1745

Net Primary Enrolment Rate of Age 5-9 in 2011-12 = 50 %

Net Primary Enrolment of Age 5-9 in 2011-12 =
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= 3.275

Gross Enrolment rate at Primary Level age 4-9 in 2011-12 = 76 %

Total Population of Age 4-9 =
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= 6.81 Million

Net Primary Enrolment rate of Age 4-9 in 2011-12 =52 %

Net Primary Enrolment of age 4-9 in 2011-12 =
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= 3.54

Students in Primary above 9 years = Total Primary Enrolment 2011-12 - Net Primary Enrolment
of age 4-9 in 2011-12

Students in Primary above 9 years = 5.1745 – 3.54 = 1.6345 Million

Result shows that almost 31.6 per cent students in Primary level are above 9 Years.

Out of School Children of Age 5-9 = Total Population of 5-9 – Net Primary Enrolment of Age 5-9 

Out of School Children of Age 5-9 = 6.55 – 3.275 = 3.275 Million

In 2011-12 almost 3.275 Million children of age 5 – 9 year are out of school.

Total Population of age 10-14 = 6.44 Million

Students of age 10-14 enrolled at primary schools = 1.6345

Net Secondary Enrolment Rate in 2011-12 = 30 %

Net Secondary Enrolment =
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= 1.932

Total Out of School Children of age 10-14 = Total Population of age 10-14 – Number of
Students enrolled at primary level of age 10-14 – Number of students of age 10-14 enrolled at
secondary level.

Total out of School Children of age 10-14 = 6.44 – 1.6345 – 1.932 = 2.8737 Million

In 2011-12 almost 45 per cent children of age 10-14 are out of school.

Similar approach is applied to estimate the out of school children for rest of the years.


